Algebra 1 Name

Assignment Date

© 2013 Kuta Software LLC. All rightsreserved.
Solve each system by elimination.

Period

1) x+6y=-3 2) 3x-4y=0
—-2X—-6y=06 -3X+6y=6
3) 4x+y=18 4) -x+y=10
3X-y=3 —-6x—-y=18
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5) 2x+5y=-11 6) 8x—-3y=6

=-2X+5y=1 16x + 9y =-18

7) —4x+ 10y =24 8) —7x+ 14y =28
-2x-y=12 -Ox+7y=14

9) 7x-3y=7 10) —-10x + 16y = —26

-14x + 4y = -28 -X+8y=23
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11) 12x-2y=-32 12) -8x-7y=-7

5x-5y=-5 -11x-3y=-3
13) -5x+ 7y =18 14) 5x -5y =-30
-4x+3y=30 -3x—-8y=29

15) 11x+7y=-15
-12x -8y =16
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16) 10x + 11y = -30 17) 6x = 18y

_3—X_§ X—ﬂ
4y gy
18) 0=-4y + 44 + 14x 19) 30 + 6y =—-3x
4x =26+ 5y
y+t_-X=-=

9 3
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20) 11y=-4x+8 21) How do you solve a system of equation by
10x=20+2y graphing?

22) How do you solve a system by substitution?
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Answers to Assignment (ID: 1)

1) (-3,0) 2) (4,3) 3) (3,6)
5)( ,-1) 6) (0,-2) 7) (-6,0)

9) (4,7) 10) (9, 4) 11) (-3, -2)
13) (-12, -6) 14) (-7, -1) 15) (-2, 1)
17) (o, o) 18) (-6, -10) 19) (-12,1)

21) The dot next to the choice indicates that it is the answer.
22) The dot next to the choice indicates that it is the answer.
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4) (4,6
8) (0,2)
12) (0,1
16) (-3,
20) (2,0

)
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